On demande ensemble de dérivabilité et dérivéegd8¢onctions suivantes....
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X
f(X)=—vx+—
) 2

4t°
ft)=—
(t) 5

)= x> +12x—1
f(U) = (2u+3)(5 + 1)
f(x)=(7x- 2y

f(X) = (Vx+1)?

f(X) = x+sinx

f(t) =tsint

f(X) =-2cosx+x*

f(x)=;—§‘

F(x) =—2

f(x) =

f(x) =

f(x)=
f(x)=

f(x) = %

f(X)=————
9 (2x -1y
x> —4x+8
2X-5
f(X) =4x-1+

f(x)=

f(X) :izsinx
X

f (X) = i
COsX

58. f(x)=+x-4
59. f(t) =t+/2t

= T
60. f(t) —cos( 2+ 3)

_ 1
6L 109 =—=—
62. f(x)=(-2x+3)*
63. f(X) =sin3Xx

_[5x—-4 ’
64. f(x)—( . J
101. f(x) = x+1-—2X

X+3

_(x=8Y

102. f(x)—(x_zj

103. f(X)=x*+x*+1
104. f(x)=2x* —3x3+%x+ 3

105. f(x) = x+g—1
X

x> +x-1

X+ x+1

107. (x) = X 2X*6
x—1

2x% =X

(x+1)?

X% +3x+ 2

x> —5x+6

110. f(X) =x° +1—£

x+3

111. f(X) =/x-1/3-x

112. (%) = x/x

113. f(x) = (vx +1)°

114, f(x) = ——

Jx

x-1
115. f(X) =——=+/X
(X) X+3f

106. f (x) =

108. f(x) =

109. f(x) =
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F(0=—=+x D =]0q+

2Jx
Cf(t)=4t" D=R
(=12 pop
f'(U)=20u+17 D=R
f ()= 14(k- 2) D=R
f'(x)=‘/§;1 D =]0,+|

f'x)=1 cox D=R
f't)=sin+t cos D=R
f'x)=2sik+ X D=R

1='(x)=§(—2 D =R\{0}

4

f(x) = 6 - D :R\{E}
(3x-5) 3

3

(x-2)°

-4x-14
X3

_ =8

- (X2 +2)2

f '(X) :__1 D :]O’+oo[

2/

-2 3
f'X)=——-— D=R
) 5x° 4 \{O}

f(x) = 4 - D:R\{i}
(2x-1) 2

2_
f '(X):LOX:A' D :R\{—S}
(2x-5) 2

My = 1 _
f (x)_4+W D=R\{4

, XCOSX— 2SirnX
f'(x) = 3

fi(x)= D=R\{2}

f'(x) =

D =R\{0}

f(x)

D=R\{0}

sinx
cos X
1

2x-4
fit) =1+ = D=]0q+

Va2t

f(t) = —Zsin(2+g) D=R

f(t)=——— D :F,m[

J(2x-3) 2

f'(x)=-8(-2x+3f D=R

f'(x) =

D =R\{km,kOZ}

f(x)= D =]4,+o0]
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101

102

103
104

105

106

107.

108
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110
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112

113.

114

115

f'x)=3cos® D=R
f'(x):1—5(5x—_4j D=R
2 2
6
(x+3)°
(x=3)
(x-2)°

Cfx)=1- D=R\{-3

=2 D=R\{2

f'(X)=4x3+2x D=R
F'(X)=8-9x*+x D=R
.f'(x):1+;—22 D=R\{0
R
' (X% +x+1)°

vy X T2X=8
f(x)-—(x_l)2 D=R\{1

ven _ OX-1 _ 3
.f(x)—(x+1)3 D=R\{-1

Lo —8X*+8x+28 _
f(x)_—(x2—5x+6)2 D=R\{2;3
v —oy_ O —m\—
Cf(x)=2x X+ D=R\{-3
—2X+4

P00 s P
.f'(x)=g\/§ D =]0,4+[

vor _ S/ X +1Y

HO= T
-1

£ =—= D =]0,+00

(%) N ]0, o]

x?+10x- 3
2% (x+ 3)

oo

D =]O,+oo[

(x) = D =]0,+oof




